



Department of Education

SOCCSKSARGEN REGION SCHOOLS DIVISION OF SARANGANI

30 Sep 2025

DIVISION MEMORANDUM

SGOD-2025-178

MALAPATAN 2 DISTRICT SPORTS SELECTION

- TO: Assistant Schools Division Superintendent
 Public Schools District Supervisor Concerned
 Public Elementary and Secondary School Heads Concerned
- 1. The Malapatan 2 District will conduct a District Sports Selection on September 19, 2025.
- 2. This one-day activity aims to:
 - a. Select the official athletes who will represent Malapatan 2 District in the forthcoming Municipal Sports Competition.
 - b. Promote sportsmanship, discipline, and camaraderie among learnings; and
 - c. Provide opportunities for student-athletes to showcase and enhance their skills.
- 3. For your reference, attached herewith are the Proposed District Activity Design, the Matrix of Activities, as well as the Playing Venues and Events with the List of Officiating Officials for the said sports selection.
- 4. Furthermore, all expenses incurred by the schools relative to this activity shall be charged against their respective local funds/MOOE, subject to the usual accounting and auditing rules and regulations.
- 5. For inquiries, you may contact Kenneth P. Carten, P1, at his mobile phone number: 0981-500-1913.
- 6. For your information and immediate dissemination.

RUTH L. ESTACIO PhD, CESO V

Schools Division Superintendent

Encl.: As stated Reference: N o n e







Address: Capitol Compound, Maribulan, Alabel, Sarangani Province

Telephone No.: (083) 508-2039 Website: www.depedsaragani.com Email Address: sarangani@deped.gov.ph



Department of Education

SOCCSKSARGEN REGION SCHOOLS DIVISION OF SARANGANI

To be indicated in the <u>Perpetual Index</u> under the following subjects:

PROGRAMS SPORTS

Adriano A. Daligdig/SGOD/MLA – malapatan 2 district sports selection 0928/September 30, 2025









Department of Education

SOCCSKSARGEN REGION SCHOOLS DIVISION OF SARANGANI

(Enclosure to DM No. s. 2025)

I. PROGRAM MANAGEMENT TEAM

NO.	NAME	POSITION
1	Glenn M. Castillas	PSDS
2	Kenneth P. Carten	P-1
3	Irish Joy P. Contridas	AO - II
4	Mary Grace E. Amora	AO - II
5	Angelle Mae P. Paler	AO - II
6	Rosylita Y. Salomon	AO - II
7	Mary Grace D. Talino	AO - II
8	Janice Miano	AO - II
9	Janyn Rio S. Ocay	AO - II
10	Lloyd Canubas	AO - II
11	Maria Ellen E. Gentiles	ADAS - II

RECORDS AND SCREENING COMMITTEE

	ON
G. Desamparo	
. Delabahan	
T. Alberca	









Department of Education

SOCCSKSARGEN REGION SCHOOLS DIVISION OF SARANGANI

II. Activity Matrix

MALAPATAN II DISTRICT SPORTS SELECTION

September 19, 2025

Time	Activity	Person/School Responsible
7:00 – 7:30 a.m.	Arrival and Registration of Participants	Secretariat / Host School
7:30 – 8:00 a.m.	Opening Program (Invocation, National Anthem, Welcome Remarks, Statement of Purpose)	Host School, District Sports Coordinator, PSDS
8:00 – 8:30 a.m.	Oath of Amateurism / Oath of Officiating Officials	Selected Athlete & Official
8:30 – 9:00 a.m.	Parade to Playing Venues (per assigned event)	Coaches / Event Managers
9:00 – 12:00 nn	Morning Games (Athletics, Volleyball, Basketball 3×3 & 5×5, Badminton, Chess, Table Tennis, Billiards, Dance Sports/Gymnastics)	Technical Officials / Host Schools
12:00 – 1:00 p.m.	Lunch Break	Host / Assigned Schools
1:00 – 4:00 p.m.	Continuation of Games (Eliminations, Semi-finals, Finals per event)	Technical Officials / Host Schools
4:00 – 4:30 p.m.	Tabulation of Results / Validation of Winners	Secretariat & Technical Officials
4:30 – 5:00 p.m.	Closing Program (Announcement of Winners, Acknowledgment of Officials, Closing Remarks)	District Sports Coordinator, PSDS
5:00 p.m. onward	Departure	All

	Events	Participating Schools	Technical Officials	Playing Venue	Materials/ Equipmen t Needed
1	ATHLETICS (Throws, Jumps, Runs) Elementary and Secondary (Boys and Girls)	DYMIS RANCHO ES LIBI IS PHMCIS TUSAN IPS ALNA IPIS CALAY IPS TUYAN	Tournament Head: LARRY M. GEORLIN-PHMCIS EDMER CALIAGA-FACSIS RONALD D. ROMANO- Akbual IPS KENNY M. LEDESMA- Alna IPIS KIRBY M. BANDA- Alna IPIS JOMAR A. MAMALAPUS- Alna IPIS JOMARIE PADERNAL- Alna IPIS	PHMCIS	c/o PHMCIS









Department of Education SOCCSKSARGEN REGION

SOCCSKSARGEN REGION SCHOOLS DIVISION OF SARANGANI

_					
	BADMINTO N Elementary and Secondary (Boys and Girls)	PHMCIS TUYAN IS FACSIS CALAY IPS LIBI IS TUSAN IS	Tournament Head: KEY GRACIA TAMINE-PHMCIS FLORDELIZA V. CABILADAS- CALAY IPS CHERRY P. ASAYAS- PHMCIS LORAINE F. DIESTRO- PHMCIS	PHMCIS	c/o PHMCIS
3	BASKETBAL L- 3x3 5x5 Elementary and Secondary (Boys and Girls)	LIBI IS PHMCIS TUYAN IS DYMIS FACSIS	Tournament Head: ALVIN LACAWAN LOREMER M. AKNABAN- Libi IS MONTASSER MUDSOL- PHMCIS JUNAIRE BALBINO-DHES JEFFREY DELABAHAN- Rancho ES	PHMCIS-LUN MASLA COVERED COURT	c/o BRGY. LUN MASLA/ PHMCIS
4	BILLIARDS	PHMCIS TUYAN IS RANCHO ES LIBI IS FACSIS DYMIS CALAY IPS	Tournament Head: JEOFREY S. SIMACAS- Akbual IPS ROMEL BALBINO- Tocablao ES KENNETH P. CARTEN- Calay IPS	LUN MASLA	c/o Technical Officials
5	CHESS Elementary and Secondary (Boys and Girls)	PHMCIS LIBI IS TUYAN IS FACSIS	Tournament Head: MAURINO C. CHAN JR Alna IPIS EDEL GRACE UNDA-PHMCIS SITTE JANIZA HERNANDO	PHMCIS	c/o PHMCIS
6	DANCE SPORTS and GYMNASTIC S Elementary and Secondary	RANCHO ES DYMIS PHMCIS TUYAN IS FACSIS	Tournament Head: GINALYN E. BARCENA- Libi IS ROMEL SAMANO-ALS JUNJUN TADLONGAN-DYMIS	LIBI/ PACMAN'S VILLAGE	c/o LIBI IS
7	TABLE TENNIS Elementary and Secondary	PHMCIS FACSIS	Tournament Head: JACKY LOU B. PONCARDAS-ALS BERNADITH OSORIO- Matlusi Ext. (DHES)	PHMCIS	c/o PHMCIS









Department of Education SOCCSKSARGEN REGION

SOCCSKSARGEN REGION SCHOOLS DIVISION OF SARANGANI

8	VOLLEYBAL L Elementary and Secondary ((Boys and Girls)	TUSAN IS RANCHO ES TUYAN IS LIBI IS TOCABLAO ES DYMIS CALAY IPS PHMCIS FACSIS	Tournament Head (Sec): CHRISTINE POLICARPIO- FACSIS HONEYBABE C. LONGNO (Sec)- Rancho ES JERRY MARK ECOY (Sec)- Akbual IPS Tournament Head (Elem): JANETTE BONJOC Tuyan IS AURORA LADARAN (Elem)- PHMCIS	TUYAN IS - Elementary FACSIS- Secondary	c/o TUYAN IS & FACSIS
---	--	---	---	--	-----------------------------









Department of Education SOCCSKSARGEN REGION

SOCCSKSARGEN REGION SCHOOLS DIVISION OF SARANGANI

Sports Event	Playing Venue /	Particulars	Quantity	Unit	Total	Source of Fund
Event	Host School	Particulars	Quantity	Cost	Lotai	
Athletics (Elem &	PHMCIS	Athletic Sports Equipment (throws, jumps, runs, etc.)	1 set	10,000	10,000	PHMCIS MOOE
Sec)		Lunch/Snacks of officiating officials	7 pax	230	1,610	ALNA IPIS MOOE
Badminton (Elem & Sec)	PHMCIS	Badminton Sports Equipment (rackets, shuttlecocks, net, etc.)	1 set	2,000	2,000	PHMCIS MOOE
sec)		Lunch/Snacks of officiating officials	4 pax	230	920	TUSAN IPS MOOE
Basketball 3×3 & 5×5 (Elem & Sec)	PHMCIS / Brgy. Lun Masla Covered Court	Basketball Sports Equipment (basketballs,	1 set	3,000	3,000	PHMCIS MOOE
		score sheets, timer/shot				
		Lunch/Snacks of officiating officials	5 pax	230	1,150	PHMCIS MOOE
Billiards	Lun Masla (hosted by	Billiard Sports Equipment (billiard table, stick, balls, etc.)	1 set	2,000	2,000	Technical Officials
	PHMCIS)	Lunch/Snacks of officiating officials	3 pax	230	690	CALAY IPS MOOE
Chess (Elem &	PHMCIS	Chess Sports Equipment (chess boards, clocks, etc.)	3 sets	500	1,500	PHMCIS MOOE
Sec)		Lunch/Snacks of officiating officials	3 pax	230	690	RANCHO ES MOOE
Dance Sports &	LIBI IS / Pacman's	Dance Sports & Gymnastics Equipment	1 set	4,000	3,000	LIBI IS MOOE
Gymnastics	Village	Lunch/Snacks of officiating officials	3 рах	230	690	LIBI IS MOOE
Table Tennis (Elem & Sec)	PHMCIS	Table Tennis Sports Equipment (table, net rackets, balls, etc.	1 set	2,000	2,000	PHMCIS MOOE
seey		Lunch/Snacks of officiating officials	2 pax	230	460	DHES MOOE
Volleyball (Elem & Sec)	(Elementary) / FACSIS	Volleyball Sports	2 sets	2,000	4,000	TUYAN IS & FACSIS MOOE
		(balls, nets, whistles, etc.)				
		Lunch/Snacks of officiating officials	5 pax	230	1,150	TUYAN IS & FACSIS MOOE
Secretariats and Management		Lunch/Snacks, etc.	11 pax	230	2,530	TOCABLAO ES & AKBUAL IPS MOOE
Records & Screening Committee		Lunch/Snacks, etc.	3 pax	230	690	TUSAN IPS & DHES MOOE
	Grand To	tal			38,080	





